5.

6.

Consolidation work 3 - First Level ***

Please show working/strategy for questions in red.

Write in words: 1002

Write in figures : nine hundred and eleven

Make 53p. Use 3 coins.

Fill in the missing numbers:  9,___ ,27, 36, ___,

Fill in the missing numbers: 511, , 509,508, ___

There are 5 roses in each bouquet of flowers. How many roses

in 7 bouquets?

10.

11.

628 + =700

What number is fwo more than 729?
Tom scored 20 in his darts game. Ben scored 60. Find the

difference between their scores.

Round 409 to the nearest 10.

385-50 =



12.

13.

14,

15

16.

17.

18.

19.

20.

35+ +1=46

Subtract 536 by 78

Divide 27 by 3.
Bella has a 20p, 10p, 10p, 2p. How much more does she need to

make £1?

Write down the fraction which is the same as 3/6?

4/6 1/8 2/3 1/2

I leave for school at 7.45am and arrive at school at 8.00am.
How many minutes has it taken me to walk to school?
40p+20p+2p=___

785+200=__

The flower has 40 petals and 14 fall off. How many petals are

left?



